50m3sbs 1.

Loz EoL YBHM03Is, OMIGoE SOfIML Lo3MmMs®o dsliol Tgbodsdolo F35MET0EEOL MIO0MLBY MBOH™
©O0EO  HBmIol  MwsGHo30LGMM0  30335dBHMM0  Mmd0gIBHOL  ®30L9dgdl  (Fop.  Bgo@®Mbmwo
395033¢930L) bdoMms 0fjgMgds 999ga0 BmOIom:

2Gm(r)

2

ds? = -2 2g¢? 4 (I —
e

1
) dr’ + 1% dQ)?

Lssg M(F) 8sLol obsfomgdol gwdbzoss, bmwm @r) ©sa30569d0L BmbJ30s. 3MB3sdEvyeo
M009dBHoL  Bgs3oMol  gotgom JgBHMozs gdmbggzs 93563d0wol  FgMHGH03L @S ©Iy3056900L

13bJE0s 00gdl 9939y Labgl:
2Gmy
In|1 -

D(r) =
(r) o

b | —

bogo Mx 35MLIZS30L K STMMO Bobvs. 39133930l oo LBEHMMIEBHWIMS FgodEGdS 2oTMFOMZIW M
93¢030LGM0 30OMBEIEH03OO0 HmboLHMmMHMOOL A56¢MEgdgdom, HMIgEoE dmoiEgds Gmendsb,
396390096 30330l 256G Mwgdgdom (TOV):

dm(r)

= 4nr’p(r),
7 mr-p(r),
dP(r) Glp + P(r)/c?)  ArrPP(r) 2Gm(r) -
= — = mr)+ ———I||1 - ——| .
dr re c- cer
dd(r)  Gm(r) + ArGr P(r)/ c*
dr  Arlr=2Gm(r)/c?]

LobBHgdob  5FMLEbLBYs  LsFoMms FEYMTsMIMIOL  obEMEgdoLs s FoDO3MMO  (33¢JdOL
Lofgolo 36093690 Md9d0L 30abs:

P(r) = K p(r)”

2
FyC*

| 2Gm,
mr=0)=0, Pr=0)=P.=Plp:). Dy = 5 ]n(l - )

1. 03m390 Bgo@®mMbmwo 35M33ws30L Jos BEGMWIGHWGS (FsLoL s B30l gobsfowgds), 3o
dolbo (396¢®oMo B0d330M0395 o = 5 X107 38/, bogom 9AMIsMIMIOL 296G MEgds

900mOBo@gds 3mEo@®mm3ngen 356mbl: =5/3, K=5380.3. ®ol »oMml 53 3oML3gmsgol dobs Mk
@S EOMLO I+ ? 593565 89800050 5dMbLbsm LggH o LodgEHMool dosbermgdsdo.

2. 3500m35¢90 230569008 BWbJEos I+ b 0-8g. 9O bsbsbbg obs@go 9356330 ol
39030l ©533056900L 316305 S FM(399990 YOO XX 0L a3056900L 53mbd30900,
I = I+ - I, b5QS(3 15835033000l Mo0bos (2Gmx/c2). 33056900l 13bd30900 9M™Msbgmls
b 9dnbgzgmbgb 35M33ws30L Bysdo®by: I = I«



